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CBT Sample assessment model answers

Financial Accounts Preparation (FAPR)

Sample assessment 2
Task 1  (15 marks)
[image: image2.png](a) Find the total sales by preparing the sales ledger control account for the year ended 31 March 20X7. (5 marks)

Sales ledger control account

[Balance bid 8924 Bank 79805|

[Sales 80225 [Purchases ledger control account 18]
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[image: image3.png](b) Find the cash purchases by preparing the summarised bank account for the year ended
31 March 20X7. (10 marks)

[Sales ledger control account 79805 [Balance bid 3283

[Caital 4000 [Cash purchases 760)

[Disposals of non-current assets, 2950 [Purchases ledger control account 39090

[office expenses 22076]

[Bank charges 78

[Prawings 19800

[Batance cia 568
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Task 2  (15 marks)
[image: image4.png](a) Show whether the following statementis true or faise. (1 mark)

‘Incomplete records'is aterm that may be used when partof the accounting system of an organisation is
absent





[image: image5.png](b) Using the information above, complete the following tasks. (9 marks)

(i) Calculate the total value of purchases net of VAT for the year ended 31 March 20X7.

3 120410}

‘The trader has limited storage space, so aims to keep inventory equivalentto approximately one mont's
average trading.

(i) Complete the sentence by picking the most appropriate option from the drop-down list.

1 would make an inital estimate of [£10,000 ] for closing inventory

‘The business sells its goods ata mark-up on cost of 35%.
(i) Calculate the sales figure to go in the trial balance as at 31 March 20X7.

3 163296

‘Standard-rated VAT of 20% applies to all sales.

* The trader sells an itemto a customer for £405 including VAT.
- There were no discounts.

(W) Calculate the original cost of the item to the trader, excluding VAT.

3 250]





Task 2 (continued)
[image: image6.png](c) Select the ONE statement that will always apply to such work. (2 marks)

Situations involving incomplete records always suggest that your client does not act with integrity.

Any association with missing figures means that you will not maintain your integrity.

Ifyou become connected with misleading information, you must disassociate yourselffrom it

While reconstructing the bank account, a total of £2,000 was identified which you believe to be cash sales.
The proprietor tells you by email that tis an injection of capital

(d) How do you treat this explanation? Choose ONE from the following options. (3 marks)

Accept it Reasonable evidence has been produced.

lgnore it £2,000 cannot lead to material misstatementin the accounts.

Rejectt. You need o contact HMRC immediately.

Remember it Examine the bank records again with this new information






Task 3  (18 marks)
[image: image7.png](a) Complete the following: 2 marks)

(i) Calculate the sales revenue figure to be included in the statement of profit or loss for Onyx.

£ |iss087

(i) Calculate the purchases figure to be included in the statement of profit o oss for Onyx.

e 104612





[image: image8.png]Onyx Trading
Statement of profit or loss for the year ended 31 March 20X7

[Sales revenue

[Opening invents 13313

[Purchases 104512

[Closing inventory 12608

[Cost of goods sold

[Gross proft
Jaaa:
[Recycing rebates [+ | 508

Less:

[Depreciation charges. 3603]

[General expenses 29970

[Payroll costs 21483

interest paid

[Total expenses

[Profit/10ss for he year





Task 3 (continued)

[image: image9.png](c) Complete the capital account for the year ended 31 December 20X7. Show cleariy the balance carried
down to the new financial year. 3 marks)

[Balance cia. 29909 Balance bid 18500

[Proft or loss account 6409|
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Task 4  (16 marks)
[image: image10.png](a) Answer the questions below regarding different types of organisation:

(i) With reference to companies, which ONE of the following best describes limited liability?

Ifa company goes into liquidation, each shareholder loses no more than the amount of their
original investment

The returns individual shareholders may receive on their investment in a company are limited.

Salaries payable to shareholders are subjectto a cap set by the management

The amount of time each shareholder can workin a company is restricted.

(i) Which ONE of the following is a benefit of running a business as an ordinary partnership
rather than a sole trader?

Limited liabily

Partnership legislation generates less administrative work than sole trader legislation.

There is a chance of greater funding ffom the ownership of the business.

Each pariner has responsibilties for the business decisions of athers, as well as their own.





[image: image11.png](i) Show whether the following statements are true or false.

“The accounting equation for a limited company may be presented as
Assets = Equiy + Liabiltes.

Asole trader's investment in their business is known as share capital

Equityinterest in a limited company is Split between owners’ investment and
‘amounts arising from profits of other events.





Task 4 (continued)
[image: image12.png](b) Answer the following regarding the need for, and preparation of, final accounts: (4 marks)

The framework within which accountants work identifies two underlying assumptions governing financial

statements.

(i) Drag and drop the correct words into the boxes below to complete the sentence.

basis and

The underiying assumptions are the |[accrual

the |{[going [concem basis.
[assets

faitnful [gone

et retevance. representation

(i) Complete the sentence below.

The framework also recognises that a variety of different groups have a need for financial statements.

A sole trader may require information ffom a set of limited company accounts to.

S5soss he Dl ot o organaton o sete & shorterm o [l






Task 4 (continued)
[image: image13.png](c) Whyis itimportant for you keep up to date with technical accounting knowledge?
Choose the most important reason.

To improve your promotion prospects within your organisation

Because allinterested parties assume that accounts have been prepared according to
current regulations.

In order that accurate confidential information may be submitted to the autnorities.

Sothat users offinal accounts can check your continuing professional development record.

(3 marks)






Task 5  (15 marks)
[image: image14.png](a) Using this information, complete the tasks below:

(i) Update Terry's capital account, showing clearly the individual entries for the introduction and

elimination of goodwill and his balance carried down.

Capital account - Terry

|Gooawil 14400|Balance big

20000]

[Balance cia 12800|Gooawill
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(i) Complete the following, by selecting ONE option in both cases:

Gooawill will

This s because,

he needs to be charged for the goodwill established by Riva and Terry.

crease B3 the value of Sam's capital account on refirement.

he is entitied o share in the parinership's future profits

his efforts building the business while he was a partner must be recognised.

his share of the business profits have already been received.

(7 marks)





Task 5 (continued)
[image: image15.png](b) Using this information, complete the tasks below:

(i) Calculate each partner's share of this residual profit:

ssma: £ [43200

gen: £ [28800

(i) Prepare the current accounts for the partners for the year ended 31 March 20X7. Show clearly the
balances carried down. You MUST enter zeros where appropriate in order to obtain full marks.
Do NOT use brackets, minus signs or dashes.

Current accounts

Balance bid 4800| [Balance bia 330
Drawings ] #s400| 30000[Salaries B 2000 0|
intereston drawings | 288 190[Share ofprofitor oss [ 43200 28300
Balance cid ~ e [Batance cia v 1060

§6200] 30190 §6200] 30190

8 marks)




Task 6  (21 marks)
[image: image16.png](a) Using this information, complete the following tasks: (18 marks)

() Calculate the balance of each partners current account after sharing profits.
Indicate whether these balances are DEBIT or CREDIT in the boxes provided.

Curentaccount—Jon: £ | __2o620] Credt |

Curentaccount—Pat £ 7577 creat |d

Where appropriate, Onyx has a policy to combine bank and cash account balances for the purpose of final accounts
presentation

(i) Calculate the bank and cash figure that will appear in the statement of financial position.

¢ [reso

(ii) Prepare the statement of financial position for the partnership as at 31 March 20X7.
You need to use the figures you have calculated above.
Do NOT use brackets, minus signs or dashes.




Task 6 (continued)
[image: image17.png](ii) Prepare the statement of financial position for the partnership as at 31 March 20X7.
You need to use the figures you have calculated above.
Do NOT use brackets, minus signs or dashes.
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Statement of financial position as at 31 March 20X7
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Task 6 (continued)

[image: image20.png](b) Show whether the following statements regarding its financial reporting are true or false. (3 marks)

Tru

‘The general public may view updated income and expenditure totals for the
‘company at least once each year.

‘There are no restrictions regarding the selection of report headings for v
cost of sales and other expenses,

Notes to the financial statements of the company may be provided o the
relevant authorities separately from the statements themselves. v
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